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X,=3(24 v ARERY, HWreROKE 3K) OWEP(X, =3) i3
P(Xy=3)= 4C; -p® -(1—p)=—4p* +4p° .
Tk, X,=1 (: A v 2R, HERoBEs1 ﬁz) DHEEP(X, = 1) 1X
P(X;=1)= ,Cy *p- (1~p) =-2p* + 2p,
Xy =2(=4 Y 2 HERY, HeRoREH 2 ) ORERP(X, = 2) i
P(X; = 2) = p?
THEPb, X, 21 (:z AV 2ERT, HROBEH1 FBIL}U:) DHEEP(X, = 1)1
P(X,Z1)=P(X, =1)+P(X, = 2)
= (2p - 2p") +p?
=—p?+2p.
X, = 0(: AV 4 RERY, HEROBE0 tﬁz) DIEEP(X, = 0) IZ
P(Xy=0)=(1-p)*,
Xy=1(34 v 4 BERY, HeROBHS 1H) OWEP(X, = 1) i
P(Xs=1)= 4C;1p- (1-p)® =4p(1-p)?
THEPD, X 22 (34 v 4HERY, HEROBMS 2 KUE) OfeEP(X, 2 2)i
P(X,22)=1—{P(X, = 0) + P(X, = 1)}
=1-{1-p)* +4p(1 - p)%}
=1-(1-p)*{(1 - p) + 4p}
=1-(1-p)3(1+3p)
=1-(1-6p? +8p®-3pH)
= 3p* —8p3 + 6p? .
X oT, REKX
—p? + 2p = 3p* — 8p° + 6p?
BERIIT B L) hp OEOEHIF
3p*—-8p3 +7p?—2p S0 PO 0<p<1
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pBp—2(p—-1*=0 »> 0<p<1
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tan Q! —'Q—H—s—-—ga
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Ly, tanAPQO:tan(:z—APQH):—tanAPQH:—-ga.
xbic, Ei@pqo@suga, 0P DI 12 aTHY, LPQH=a, LPOH=B LB & ¥
P\ ;
tana=ga, tanf=a, Z0PQ=a~—f P
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tana — Ta—a . @ H
tan Z0PQ = tan(a — f) = —n nf 5= L
1+tana - tanf 1+-S-a.-a 5+6a /
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tan ZOPQ 1 1 ( «/30)
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_log, 27 _p -

(1) logye 28 = Tog, 2% — ~ ¢:3)
(2)‘ logn(2"*1x) = log,na(2™x) - - + (%)
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